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Myctb V(I)— dyHKumna bennmaHa ansa 3agaym 6eicTpoaencTang
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@ . Vi(z,t)+ maxl{—%uz—k(v;(sc,t),flsc—kbu)}:U

o . Vie(z,t)+ min1{—%u2+(V;($,tj,A$—|—bu)}:{]

dyHKUMa bennmaHa ansa 3agayu

T = f(z,u); zelR", uel, to<t<1y,
z(tg) ==y z(?1) ==y,
il
L:ffD(I('ﬂ),u('ﬂ)) dt— min.
Ay :

uf)

YpaBHeHue bennmaHa nveet Bng

BbibepuTte oanH oTBET.

O max{-/2 =) +(Va(z)(zu)} =0

o V;(x,t)ﬂinei%{ — )+ (V iy (2,0), F(z,u)f = 0

2 bl

® c. Vi(:ﬂ,t)—kma,x{_JfU(;-",u)—|-(V$($,t),f($:u))} —0
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NMpocmoTtp CnyvyanHbin Bonpoc (vesna_2009 test3)
=
Heobxoanmoe 4mcno cnyyarHbix BONpocoB borbLle, YeM coaepXut kateropus ()
NMpocmoTtp CnyvyanHbin Bonpoc (vesna_2009 test3)

=
Heobxoanmoe 4mcno cnyyarHbix BONpocoB borbLle, YeM coaepXut kateropus ()

(V' (2),Az)+H|V (z)|=2

T=u; ueU=5,(0),
I(U) = Ty, IE(T) =0,

T — min.
\ e

-

T uel = 53(0),
z(0) ==z, z(T)=0,

-~

T1=z5+uy; el =.55(0),
I(U) = Zy, I(T) =0,

T — min.
(]

2 2
Vagl(ﬁ) —|—Vdgg($) =1
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[V ()] =3

z(0) = T, z(T)=0,

T — min
()

{:Isu; uel =.51(0),

max{ —fﬂ(sc,u)—|—(V;:($,t),f($,u))} —0

z(0)= T, z(T) =0,

T — min
()

u ey
{:}:u; uel = .55(0),

V(z)=6|z|

5|V ()| =1



(V'(z),Az)+5]|V (z)| =1

(V' (2),Az)+H|V (z)|=5

Vt(sc,t)—kuné?il{ (Vﬂﬁ,t},ﬂﬁ—kbu)} —0

V(=)

Vt(sc 1)+ max { %uﬁ—k(v;(ﬁ,ﬂ,}lﬁ{—bu)} =0
ue TR!

Va (2)Vg,(2) =1

(V' (2),42)+5|V ()| =1

[V ()] =9

Vi(z1)+max! /2(z,u)+(Vy(2,1)./(z,u)f =0

max {—%uz—k(v;(if,t),}l;“—i—bu)} =0

we IR!
=]
V(L‘“):—T
T1=—3z94uy; uel =54(0),
T9=3%FUqg,
I(U):ID, z(T)=0
T —min
(0 =2
4=(3 F)
T
V(=) =g]q




T = f(z,u); zelR" uel, tp<t<ty,

{sc(t[]) =z, z(?1) ==y,

t
L:Jlfm(sc(t),u(t)) di— min.
tn u(’)

3|Vi(z)| =1
{ﬂlea§(Vﬂ($),f($,u)) =1,
V(:Il) =0

T1=2z9+uy; uelU =S55(0),
Ty =—2Z{+Uq,
z(0) = T, (1) =0,

T — min.
-‘I'l-&-

V;(::,t)—k min {—%uz—l—(V;(x,t),Aﬁ—kbu)} =0

u €& ITR!

V(x) :—ﬁ
V;($,¢)+1$Ea§{ (Vo (z,2), f(z,0))} = 0
Viz)= ”‘ii”
V(z)=—6||
a=(%§)

t=Az+bu; zeIR" uelR! 0<t<T
{:L‘"(U)_.ID, z(T)=0,

L= ﬁ(u(t))? dt— mijn.
0 ul’)

2|V ()| =1
A:(_2 g)
=







